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QUESTION 1

The performance of your query is very slow.

Which two actions would you take to diagnose potential bottlenecks? (Choose two.)
A. Check that indexes are registered against the fields being queried.

B. Monitor the task execution time.

C. Use the QueryRecorder to see the query Trace and Explain plan.

D. Check that indexes are cached against the fields being queried.

E. Monitor the task performance time.

Correct Answer: BD

QUESTION 2

Assume that network latency between two data centers is 5 milliseconds with minimal packet loss.

Identify two problems with running one Coherence cluster that spans these two data centers (Choose two.)
A. Outage in the WAN link can cause split brain.

B. Access and writes to data takes longer to complete.

C. Total loss of power in one data center can lead to split brain.

D. Network latency will lead to cluster instability.

Correct Answer:. AB

QUESTION 3

Which plug-in does Oracle Traffic Director require you to install to load balance HTTP requests to WebLogic Server?
A. mod_wls

B. mod_weblogic

C. mod_wl_ohs

D. No plug_in is required

E. mod_ohs_wl

Correct Answer: C
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QUESTION 4

What three components are not part of EM and require separate installations? (Choose two.)

A. BTM Engine

B. RUEI Engine

C. JVM Diagnostics Engine

D. Application Discovery and Performance Management Engine
E. Ops Center

Correct Answer: DE

QUESTION 5

Which is a valid reason for using Coherence Elastic Data?

A. You want to cache more that the total amount of RAM on your systems.

B. You want to extend your cluster across a WAN.

C. Data must be persisted to disk to ensure fault tolerance.
D. You want to store data on very large heaps.

Correct Answer: A
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